(—Multiplication and Division 2 )

Short multiplication method

lam ,m,i;qja’k_p.’tcrr;\‘ultlplﬂg a-two- or three-digit number by 0-10 “‘,'
" using the short multiplication metho_d. g -
g an plication method. Instead of using separatem

We can also use the short multi

! can do it all together.
| . . .
' A length of track is 281 m. If Max runs this track six times, how many metres will he

——y—

; have run?

281 mx 6

(b) Calculate. 281
Multiply each digit by 6, carrying X
over any regrouped amounts. 1686

’ (a) Estimate.
Think:

281 rounds to 300.
. 3006 =1:8005 . . Answer: 281 m ’Lb_ = 1,686 m )
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o Work these out. Three are done for you.
(a) TU (b) TU (c) TU (d) TU
3L 25 36 L5
X #10 X (D X L X 3
20 4 |25 | G4l |13 5
(e HTU f) HTU (g HTU (h)
245 132 148 2607
sy g B X o 8 X 3 % L
TE 105¢ L 32%
) HTU () HTU (k) HTU ) HTU
L 25 6 49 286 L 17
X .- 6 X 1 X 7 5 8
2550 X 2002 333¢

Check your answers using your calculator, but without using the x@.t‘)uttonl
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